ISSUE ENCOUNTERED

This is the Nth term: 3
Middle disector {(beads): 5
Number rows above or below: 2
*FEFEXEINAL TOTAL: 1

CURRENT RUNNING TOTAL BEADS: @

BEADS in: 2 row above disector is: 3
FEEREREXELLRRLRRRRRR T35 ength sf: 2

This is front padding:--

This is length Stringloiner: 2
these are the beads on row(2):0 0 0

Stringloiner to be filled on row: @

xRk xRRRRRRRRRR R 20528  ongth sj: 2

R: 2

This is front padding:--

This is length Stringloiner: 2

these are the beads on row(2):0 0 0

StringJoiner to be filled on row: 1

CURRENT RUNNING TOTAL BEADS: 3 —
Checking if key (3) in HashMap

Currently processed row 3: true with result: 3
Has existing key(3,3) in map: false

No key entry(3) in hashmap. To be added (3)
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BEADS in: 1 row above disector is: 4
ExEEEREREREERERRELIRE258) angth sj: 2

R: 2

This is front padding:-

This is length Stringloiner: 2

these are the beads on row(1):0 0 0 O

Stringloiner to be filled on row: 8
FEEXRKERRERRRERKRRERIX4G] ength sj: 2

R: 2

This is front padding:-

This is length Stringloiner: 2

these are the beads on row(1):0 0 0 O

Stringloiner to be filled on row: 1

CURRENT RUMNING TOTAL BEADS: 7 _

Checking if key (4) in HashMap
Q*EXEXELTNAL TOTAL: 19 (7x2)+5
***¥Hexagon Arrangement*#*
-000O0

-000O0

C00O0O

-00 00

-0 000

number provided: 999179

Final Total: 19

This is FinalTotal: 19

1*#xEXEETNAL TOTAL: 61 (26x2)+9
***Hexagon Arrangement®#®*
-000000O00O0
-000000O00O0
-000000O00O0
-000000O00O0
O0OO00OO0O0O0OO0OO
-00000O0O00O0
-00000O0O00O0
-00000O0O00O0
-00000O0O00O0

1¥#FFEXEETNAL TOTAL: 91 (40x2)+11
***Hexagon Arrangement¥#*
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
O0O0O0OO0O0OO0OO0OO0OO0OO
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
-0000000O0O00O0
number provided: 999179
Final Total: 91

This is FinalTotal: 91




